Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

1.85—

1.65—- ..........................
1.45—- A S
1.25—-

L = ==N
0.8:"' TR
T
1_ H K = 2=l A R K
020 40 60 80 100120140160180200

Number of tracks

Aol it

Pull of x

Ratio

00120 140160 180200
Number of tracks

Pull of X for merged vertices

Ratio

—4—

OASO

0 100 120 140 160180 200

Number of tracks

i

4

18

1.6

1.4

1.2

iy

E d

20 4

0 60 80 100120140160 180200
Number of tracks

1.8

1.6

1.4

1.2

[y

0.8}

-

0.8f---

0 20 40 60 80 1001201401601

Number of tracks

_E@ﬁ&ééﬁEElEﬁéa?wéfﬂﬁéﬁs

Ratio

Pull of z

Ratio

00120 140160 180200
Number of tracks

Number of tracks

Pull of y tor merged vertices

Ratio

Pull of z for merged vertices

Ratio

08)~20"40 60 80 100120140160180200

Number of tracks

—oll_o ]

80 100 120140160180 200

Number of tracks



	Contents
	Page 1


